FR 450 Rally 2019 <2019><EU><F2399S1>
INSTRUMENTS / LOCK SYSTEM
50008

Pos Part Number Description Additional Text Quantity
1 0912080753 AH SCREW DIN0912-M 8X75 2.00
2 0125080003 washer DIN 125 A -8.4 4.00
3 0985080003 SELF LOCKING NUT DIN0985-M 8 2.00
4 76712089000 navigation tower 1.00
5 76712091000 Roadbook carrier ZSB 1.00
6 0471140100 retaining ring DIN 471 14x1 6.00
7 81214086000 INDICATOR LIGHT RESERVE 2.00
8 58011022400 TEMPERATURE WARN. LIGHT RED'98 1.00
9 58011021300 H.BEAM INDICATOR LIGHT BLUE'98 EXC EU+AUS 1.00




10 58011025000 OIL INDICATOR LIGHT RED IGNITON INDICATOR 1.00
LIGHT RED
11 58011024300 FLASHER INDICAT.LIGHT GREEN'98 EXC EU+AUS 1.00
12 54603048100 clip nut M6 4.00
13 31008060000 rubber grommet D=8mm open 4.00
14 76712073000 ICO retaining bracket ASSY 1.00
15 76408001004 BUSHING 2.00
16 76712069000 ICO connector plate ASSY 1.00
17 0025060126 HH collar screw M6x12 TX30 6.00
18 76712069020 ICO plug sheet 1.00
19 0024060136 HH collar screw M6x13 TX30 4.00
20 0024060106 HH COLLAR SCREW M6X10 TX30 4.00
21 0985050003 Self locking nut DIN 985 M5 2.00
22 43205062100 silentbloc 20x15-M6x10-(1) ONLY FOR USA 8.00
23 76712092000 Bracket GPS 2.00
24 0926060000 STOP NUT M6 DIN6926 A2-70 2.00
25 76712092030 Strap 2.00
27 0025050106 HH collar screw M5x10 TX30 2.00
34 76712075044 Roadbook switch cmpl. 1.00
35 0912060163 AH SCREW DIN0912-M 6X16 4.00
40 76712098100 Roadbook 1.00
41 76712098150 Roadbook cover cmpl. 1.00
42 76712098193 Top handle 1.00
43 76712098192 Bottom grip 1.00
44 76712098195 O-ring 42x3 - NBR 1.00
45 76712098191 lllumination LED 1.00
46 76712098194 Electric motor 1.00
47 76712098144 Set of bushings 1.00
48 76712098190 Roadbook tool 1.00
50 77714069600 Speedometer digital km/h f. 21 REPROGRAMMABLE: 1.00
KM/H - MPH
51 0081645121 EJOT DELTA PT SCREW 45X12-Z 2.00
53 54814068100 CABLE FOR DIGITAL SPEEDOM. 06 1.00
60 76712085066 Tripmaster ICO kpl. 1.00
61 58512085160 BATTERY FOR ICO TRIPMASTER 04 2.00
62 76712085030 Wheel sensor, ICO tripmaster 1.00
70 76712084020 Bracket Iritrack 2017 1.00
73 0902060083 Oval head screw ISO 7380 M 6X8 4.00
76 07985040103 Flat head screw DIN 7985 4.8 M 2.00
77 76712084002 Emergency transmitter sleeve 2.00




